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EXERCAISES

Ex.L The ?—le‘:’\'on is heowier than e wwow, with

Mp = 1333 MeV  vs mr,z 106 MeV ,
and can decay iu several diffeverd ways, while wwous decsy
aloo% oS 1._-; e.%vf.. One of +he decosy channels of the
T is exactly siwios: € = Ve Ve, and procaeds -Bnmuj\-s
the some Ferwmi covpling G . K\‘\owinj dnek the vzs‘n.c.-
tive Lfetimes are Ty 2.axI0 > Sec. and Tu¥ 22x10° €t .
estimate the fraction of ¢ decays wko @VeVe and
compare with the bserved BR = (13.95%0.05)%.
What do you expeckt for BR(T > popvp) ?
Ex.2 Suppose the SM is the low-& EFT of a_ Susy
wodel with the mase of all supacpartners RAgyo = 4TeV.
Assuraing ot SUSY Rxes the ags guartic (F2h*) ok
the scale Agysy in feems of gauge couplings and dhe
suge a3 A(Mssy) = g (Fog®) =",
Show how to calevlate the Hiqys boson mass uvsiug Re

vonning from Agysy down to dhe € scale and kee?\'w.a
on‘g -\"\e.‘.had;-v.s t@@u‘b to cbtoin :
2 _ 53 *‘\.g ASus
Mp = M3 cos®2a + —= W log -“_‘r.
whaxre H_Lg \_ hys- 5 n%"‘(ﬁ"’é")" H\f,z
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